Edexcel GCSE (9-1)

Sciences Revision checklist CB6

CB6 Plant Structures and their Functions

CB6a Photosynthesis

Step Learning outcome Had a look | Nearly there Nailed it!
7:0= Explain why photosynthetic organisms are ] B []
«* | producers of biomass.

61% Recall some supstance§ produced from ] B []
»* | glucose and their roles in the plant.
o | Summarise what happens in photosynthesis ] 0 []
<« | (including the use of a word equation).
q
'9;% Explgin why photosynthesis is an endothermic ] 0 []
*® | reaction.
6:0= Explain how a Iegf and its cells are adapted ] 0 []
» | for photosynthesis.
CB6b Factors that affect photosynthesis
Step Learning outcome Had alook | Nearly there Nailed it!

L/

S‘“:= Recall what is meant by a rate of reaction. [] [] []
» Describe the effects of temperature, light
w, | Descri ter _ 0 0 O

‘7".- intensity and carbon dioxide concentration on

the rate of photosynthesis.

¥, | Explain the effects of limiting factors of

% | photosynthesis. i i i

’9"@ Explain the effects of more than one factor ] ] ]
*® | on the rate of photosynthesis.

’9:o= Describe hgw light intensity and rate of ] 0 []
*s* | photosynthesis are related.

Explain why the rate of photosynthesis is
w || . ! ; 0 0 0]
LS inversely proportional to the distance of a light
source.
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Edexcel GCSE (9-1)

Sciences Revision checklist CB6

CB6c Absorbing water and mineral ions

Step Learning outcome Had alook | Nearly there Nailed it!
6:0. Explain how root hair cells are adapted to ] B B
J . . . .
» taking in water and mineral ions.
", | Recall that substances can be transported by
6y . . . . L] [] ]
4 diffusion, osmosis and active transport.
. . . .
pos. Desgrlbe what is meant by a concentration M B B
» gradient.
. . . .
) Explain why active transport is needed to M 0 0
7 14 transport some molecules.
" . .
'2:.3 Explain how molecules move by osmosis. [] [] []
CB6d Transpiration and translocation
Step Learning outcome Had alook | Nearly there Nailed it!
- . . . .
6,@ Expla_un how xylem tissue is adapted to its M 0 0
» functions.
. . . . .
6(@ Expla_un how phloem tissue is adapted to its M 0 0
» function.
v
‘7:.3 Describe how transpiration occurs. [] [] []
Y . .
1§ | Describe how translocation occurs. L] L] L]
v Explain the effect_s o_f env_ironr_nental_ factprs on M ] ]
v,z:.% the rate of transpiration (light intensity, air
movement, temperature, humidity).
7:0= Describe how to measure the rate of M ] ]
7 14 transpiration.
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